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No. FEEE E= el 1B BAARR
1 |%=F| 200 |m AAX KL — XA LREs| 4 10:00
2 | B 200 |m AAX KL — XA LREs| 6 10:14
3 |&F| 25 |m BAXE XA LRE| 9 10:35
4 | B 25 |m BXKE XA LREs| 5 10:40
5 |ZF| 25 |m B LA LRES| 14 | 10:42
6 | B 25 |m EREzpiZ A LRES| 11 | 10:48
7 |&F| 25 |m SEAKE XA LGRES| 8 10:53
8 | B 25 |m FxE XA LRE| T 10:57
9 |&F| 25 |m A A LR 12 | 11:01
10 | &8 25 |m NRZT7 54 XA LREs| 8 11:07
K = 1 11:11

11 [JBE[4x25|m | BEXRL—UL— | &4 LREs| 3 11:21
12 | ZF| 100 |m BKE XA LRES| 4 11:33
13 | & 100 |m BKE XA LIRS 2 11:43
14 | ZF| 100 |m B 2A LGRS 6 11:48
15 | &8 100 |m E)EspiZ 24 LRBs| 10 | 12:00
16 | ZF| 100 |m FRE ZALGRES| 5 12:20
17 | 8 100 |m TR E A LRES| 4 12:32
18 [ ZF| 100 |m N T A A LGRS | 2 12:41
19 | & 100 |m A 2A LRBs| 3 12:46
K = 1 12:53

20 | ZZF | 4 x50 |m 7U—UL— 2A LRBs| 3 13:38
21 | B8F | 4%x50|m 7U—UL— 2A LRBs| 3 13:50
22 | Z&¥F| 50 |m BxE 2 A LRES| 5 14:03
23 | B 50 |m BxE A LRES| 6 14:08
24 | F| 50 |m =N==piz 24 LREE| 11 | 14:14
25 | B 50 |[m =N==piz 24 LREE| 17 | 14:25
26 |Z¥F| 50 |[m TR E XA LRES| T 14:42
27 | B8 50 |m TR E 2 A LRES| 9 14:49
28 | ZF| 50 |m NRT 54 ZALGRBS| 5 14:59
29 | B 50 |m A 2A LRBs| 6 15:04
K = 1 15:10

30 | LF | 4%50(m ARL—1L— 2A LRBs| 3 15:20
31 | 2F|4%x50(m ARL—1L— 2A LRBs| 3 15:35
BIEHRT  15:50




